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(1) 0a1 = ¢1 - saqa - scAb Xﬂ‘)[/ F@E‘F@ﬁh&ﬁﬁi(m
(2) Qa2 = @1 cO0qa" scAj XEELIVY ) — MADXEREICK DM v — FEREARFEN)
@) Qaz = @10 Ag XEELEZaAVY ) — MEEROI—URBEIC K 54 VY — FEBREABFEN)
Q = Min(Q.1, Q.2 Q.3 XEED535, BRIOHEEZHBLANFTEELTS
® 4 ERES (RRATER1/3 B8HFmEARA ()HX-1/2 2 HX-2/3)
sO0 ga RJL bk (SS400 B L) DHABTERE 04, =0,/ V3 £ETH
Nl RIL  (SS400 18 2) DIRIERER MsEE .0y = 235 (N/mm?)
oAb RIL kDR DERE SHETEFE (mm?)
60 g AV )—FDOXEBEE (0. = 0.5/ (Fc - Ec) = 427.8(N/mm®) TEET
Fc aVH ) — FOBRFTHEEBRE Fo = 30(N/mmd) THEST S
Ec aAVO)— kDY UTRE Ec = 2. 44x10°(N/mm?) TEHET S
oA 4 oY — b O EEETE (nm?)
¢O+t a—RBIRICHT 52209 ) — FDEIEEE 0o = 0.31V Fc = 1.7(N/mm?) TEHET S
A AV YY— bOa—RBIEE (FARDARORE OBFMKEREEE M) KTRSR)

1. FEEAMBTEDEGE

(1) RIL FEFBREBEAMTEDSE
M1 2RI FORSEEEEE A, = 84.3(mmd)

REATIER 0, = 1/3 % (235 / V' 3) * 84.3 = 3813(N) = 3.8(kN) (3¢ 388kgf)
EHEATIERE 0, = 1/2 % (235 / V' 3) * 84.3 = 5719(N) = 5.7 (kN) (3¢ 582kgf)

(2) AVvH ) —bXEREICEEZS oY — B EBEABREDTE
Ao —rDOMED 1 OMWEE A = 286.5mm?)
EHRIER 0, = 1/3 x 427.8 * 286.5 = 40855 (N) = 40.9 (kN) (3¢ 4173kgf)
SSHARTERE 0, = 2/3 * 427.8 % 286.5 = 81710(N) = 81.7(kN) (3% 8337kgf)

Q = Min(Qu, Q) & YEFBEAMTEILX. RYAFER 3.8KN) . EHFERS TKN) &5,

2. BAMAARBEOI—VIRBIREZR LAY HETEOFHE

AYHETEE c(mm)ET S, (B)KEY Q. =1/3% 1.7 % (05 * 3.14 % c2) > 3813(N)&71 B c ZEtE T BHE. ¢ > 66(mm)ErD,
B TIE AYHETEEMHEDOIFB/LULELLTLSD, EREH D19 DAMERIL 19.1mm T, 19.1 * 3 = 57.3 < 66 &7
Y, ElhEE-LTNS,
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